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Instructions:- 1) There are FIVE compulsory questions in this Q. Paper.

b)

2.a)
b)

3.a)
b)

3.a)

(2) All questions carry equal marks.
(3) Use of Scientific calculator is allowed.
(4) Graph papers & statistical tables will be provided on request.

Define Laspeyre’s, Paasche’s and Fisher’s Index number. (6)

State the uses and limitations of Cost of living index number. (8)
OR

State the uses of Index number. 6)

Calculate Laspeyre’s, Paasche’s and Marshal-Edgworth’s Index (8)

Number for the following details:

Base Year Current Year
Commodity | Price | Quantity | Price Quantit
A 5 10 10 15
B 9 12 12 7
C 12 18 15 15
D 10 5 12 6
E 6 6 18 10

Explain giving example the Time Reversal Test and Factor Reversal (8)
Test.

Explain the meaning of Index number. (6)
OR
State the characteristic of Index number. (6)
From the following data, compute the general index using average 8)
with fixed base and by chain base method —
- | Commodity Production
2006 | 2007 |2008
A 12 27.6 18
B 9 11.7 | 135
C 15 18 22.5
What is time series? State its uses. (6)
Describe the different components of time series. (8)
OR

What is a trend? Explain the method of moving average for (6)
measuring trend.



b) Fit a trend line to the followin data and obtain the trend values. (8)

Year 1951 | 1961 | 1971 | 1981 | 1991 | 2001
Rate of
' population growth | 13312164 | 24.80 24.66 | 23.89 | 21.54
4a) Explain the least squares method of fitting a linear trend. (6)
b) Find the trend for the following time series using a three year moving (8)
average.
Year 1991 [ 1992 | 1993 | 1994 | 1995 | 1996 199'1
Production(‘000s) | 2 4 5 7 8 10 | 13
OR
4.a) What is analysis of time series. (6)

b) Fit a straight linc by a method of least squares and calculate the trend - (8)
values for the following data-
Year 2002 | 2003 | 2004 | 2005 | 2006

Production { ‘000s Rs) |72 {66 |60 |87 93

5.a) Explain Demand and Supply function. (6)
b) The demand function of a commodity is P = 50 - —Sz-x Determine (8)

demand and price for maximum revenue.
OR _
5a) Explain ‘De-Facto’ and ‘De-jure’ method of Population Statistics. (8)
b) Write a note on , ‘Market Equilibrium’. (6)
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